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Comprehension (35 minutes) #ff0000>听力mp3下载 Section A

Directions: In this section, you will hear 8 short conversations and 2

long conversations. At the end of each conversation, one or more

questions will be asked about what was said. Both the conversation

and the questions will be spoken only once. After each question

there will be a pause. During the pause, you must read the four

choices marked A), B), C) and D), and decide which is the best

answer. Then mark the corresponding letter on Answer Sheet 2 with

a single line through the centre. 注意：此部分试题请在答题卡2

上作答。 11. A) The speakers feel sad about the serious loss of life.

B) The woman never travels by plane. C) Both speakers feel nervous

when flying. D) The man thinks traveling by air is quite safe. 12. A)

At the information desk. B) In an office. C) In a restaurant. D) At a

railway station. 13. A) His English is still poor after ten years in

America. B) He doesnt mind spealdng English with an accent. C) He

doesnt like the way Americans speak. D) He speaks English as if he

were a native speaker. 14. A) It gives a 30% discount to all customers.

B) It is run by Mrs. Winters husband. C) It hires Mrs. Winter as an

adviser. D) It encourages husbands to shop on their own. 15. A) Hes

already been picked up. B) Hes delayed at the airport. C) Hell be



standing outside. D) Hell be easy to recognize. 15. A) He doesnt like

the newspaper job. B) He isnt enthusiastic about his promotion. C)

He will leave his job if hes not promoted. D) He will take the job if

hes paid higher. 17. A) An auto mechanic. B) An electrician. C) A

carpenter. D) A telephone repairman. 18. A) They both enjoyed

watching the game. B) The man thought the results were beyond

their expectations. C) They both felt good about the results of the

game. D) People were surprised at their winning the game. Questions

19 to 21 are based on the conversation you have just heard. 19. A)

Because therere beautiful beaches in Southern California. B) Because

theres a lot of rain in her hometown. C) Because people in Southern

California are all friendly. D) Because she likes to be independent of

her parents. 20. A) Arrogant. B) Hospitable. C) Hostile.百考试题，

考试伴你同行 D) Indifferent. 21. A) The man is treating the

woman to a meal. B) They are doing shopping in a supermarket. C)

They are heading home from school. D) They are going to visit a

Mend. Questions 22 to 25 are based on the conversation you have

just heard. 22. A) On the expressway. B) In front of the house. C) At

the post office. D) In the parking lot at the store. 23. A) She wrecked

her fathers car. B) She doesnt have money to repair the car. C) She is

afraid of her dads punishment. D) She wont have a car to drive over

the weekend. 24. A) He offers to help pay for the repairs. B) He

volunteers to drive her where she needs to go. C) He suggests she

invite Mends over to eat. D) He would like to borrow his friends car

for her. 25. A) The girl decides to go camping the following week

instead. B) The girl invites friends over instead for a pizza party. C)



The father reluctantly loans his car. D) The father has the car

repaired as soon as possible. Section B Directions: In this section,

you will hear 3 short passages. At the end of each passage, you will

hear some questions. Both the passage and the questions will be

spoken only once. After you hear a question, you must choose the

best answer from the four choices marked A), B), C) and D ). Then

mark the corresponding letter on Answer Sheet 2 with a single line

through the centre. 注意：此部分试题请在答题卡2上作答。

Passage One Questions 26 to 28 are based on the passage you have

just heard. 26. A) Because the mechanic repaired the ear without

checking. B) Because the mechanic spotted the problem with his

ears. C) Because the car was seriously damaged in an accident. D)

Because the car engine was replaced in a few minutes. 27. A) Selling

and delivering ones original ideas. B) Acquiring more knowledge on

the new technology. C) Following the advice of business consultants.

D) Combining accounting, investing, marketing and law. 28. A)

McDonalds hamburgers are of greater variety. B) Those people are

not specialized in fast food industry. C) McDonalds has a stronger

sense of business. D) Those people emphasize quality more than

quantity. Passage Two Questions 29 to 31 are based on the passage

you have just heard. 29. A) One sixth of them are seriously polluted.

B) One third of them are seriously polluted. C) Half of them are

seriously polluted. D) Most of them are seriously polluted. 30. A)

There was no garbage left to clean up. B) There was more garbage

than before and they had to work harder. C) The river had become

so clean that a lot of water birds came back. D) The river was much



cleaner and they had to search for garbage. 31. A) Most of them

would be indifferent and keep on throwing garbage into the river. B)

They would join the students in changing the situation. C) They

would become more aware of the pollution problem. D) They would

think twice before they went swimming or fishing in the river.

Passage Three Questions 32 to 35 are based on the passage you have

just heard. 32. A) Why people hold back their tears. B) Why people

cry. C) How to restrain ones tears. D) How tears are produced. 33.

A) Only humans respond to emotions by shedding tears. B) Only

humans shed tears to get rid of irritating stuff in their eyes. C) Only

human tears can resist the invading bacteria. D) Only human tears

can discharge certain chemicals. 34. A) What chemicals tears are

composed of. B) Whether crying really helps us feel better. C) Why

some people tend to cry more often than others. D) How tears help

people cope with emotiona problems. 35. A) Only one out of four

girls cries less often than boys. B) Of four boys, only one cries very

often. C) Girls cry four times as often as boys. D) Only one out of

four babies doesnt cry often. Section C Directions: In this section,

you will hear a passage three times. When the passage is read for the

first time, you should listen carefully for its general idea. When the

passage is read for the second time, you are required to fill in the

blanks numbered from 36 to 43 with the exact words you have just

heard. For blanks numbered from 44 to 46 you are required to fill in

the missing in, formation. For these blanks, you can either use the

exact words you have just heard or write down the main points in

your own wards. Finally, when the passage is read for the third time,



you should check what you have written. 注意：此部分试题请在

答题卡2上作答。 #ff0000>编辑推荐：#0000ff>2011年6月英语
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